
D-700-N

5120-01-430-5317

BLIND FASTENER TOOL KIT

FOR RIVNUT AND INSERTS
CONTRACTOR: Cage Code 64878

FASTENING SYSTEMS INTERNATIONAL, INC.

1206 EAST MacARTHUR STREET

P.O. BOX 1372

SONOMA, CALIFORNIA 95476

TEL: (707) 935-1170

FAX: (707) 935-1828

E-mail: Sales @ fsirivet.com

Web: www. fsirivet.com
QUANTITY

PART NO.


DESCRIPTION

1

D-700-VM (Vari-Max)

Hand Riveter w/ Pressure Adjust.


1

F360 (5120-01-430-5379)
6-32 Pull-Up Stud


1

F361 (5120-01-430-5320)
8-32 Pull-Up Stud


1

F362 (5120-01-430-5377)
10-32 Pull-Up Stud


1

F363 (5120-01-430-5375)
1/4-28 Pull-Up Stud


1

F377



5/16-24 Pull-Up Stud


1

F372 (5120-01-430-5335)
10-24 Pull-Up Stud


1

F373 (5120-01-430-5342)
1/4-20 Pull-Up Stud


1

F374 (5120-01-430-5334)
5/16-18 Pull-Up Stud


1

F375 (5120-01-430-5369)
3/8-16 Pull-Up Stud


1

F380 (5210-01-430-5324)
6mm Pull-Up Stud


1

F367



No. 6 Driving Anvil


1

F364 (5120-01-430-5387)
No. 8 Driving Anvil


1

F365 (5120-01-430-5358)
No. 10 Driving Anvil


2

F366 (5120-01-430-5321)
No. 1/4 Driving Anvil


2

F378



No. 5/16 Driving Anvil


1

F379



No. 3/8 Driving Anvil


1

F176



No. 10 TSN Driving Anvil


1

F177



No. 1/4 TSN Driving Anvil


1

F170-A (5120-01-430-5347)
Master Shaft Assembly


1

F171 (5120-01-430-5343)
Turn Nut


2

F702



Spare Parts Canister


1

F797



Plastic Carrying Case

Seal Kit for field repair available: F700KS (5120-01-430-5357)

